
 

 

ANSWER ON QUESTION #58171 – MATH – CALCULUS 

QUESTION 

If f(x)=(arctan(x))4+3arctan(x)+5,  then f′(x)=  

 

SOLUTION 

 

 IF 
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BECAUSE FROM THE RULES OF DIFFERENTIATING OF COMPOSITE FUNCTION  
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AND FROM TABLES OF DERIVATIVES  

                   
34 4)( zz   

21

1
))(arctan(

x
x


                                                                  (4) 

0)5(                                                                                            (5)     

NOW ONE CAN OBTAIN (2) COMBINING (3), (4) AND (5). 

 

ANSWER: 
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